R&7T X b

1.
0 A XADEZIZHHE 60m.
B X A OB X34535# 100 m.
m
QHBFS Fommmm e e
A B
_______ A
PHIS T eeeeenee 45
3) AFBDOEXI7H 75 m.
B B D#E X 13575% 100 m.
m
() L R et
A
B
P e g 5

EE A1V I5L KREOKEE 01

KDL T : 4 XA Y77 LICEEZRAD. (SHk358, Aik1, B#17340%, C #2577 30% )

2) P55 Q T, {TEDHXIE7#E 60 m.
Q25 P T, @b D@ X 1X5# 120 m.
m
QIR b mmmmmmmm e g
7= R
L e ——
Pﬂj‘ ....... 7 _______ ."/f"' ﬁj\
W A XADBEXT57H 150 m.
B B D#EX1355# 120 m.
m
QUL hgmmmmmmmmmgmmm e e
A B
Mol
Pﬂ—j‘ -...7 .......... ,f ..... 53\

© B - B L L9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

RO 7 : 4 2XA YT 2CEZAD. (SHh458, Af157208, BfK2575 208, CH%3 7308 )
W Q25 P ETOM I 72m. 2 HON T DX X7 E 135 m.
P25 Q FTOMX IS 64m. BEEWH DB 345753E 90 m.
m m
QS QIS
P P&
3) A ZADFEXII57E 140 m. W A ZADFEXII57E 96 m.
B BD# X 13574 105m. B XA DX X5 #E 240 m.
m m
QLA & QM -------g.—::'.'Z.'L':; ;‘.':'.-."./.f.-....:'.' ........
» 1
A B
PHiS 5 i P 5

© B - B L L9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

R&7T X b

ES HAAVISL BREORLE 01 RERS

KDL T : 4 XA Y77 LICEEZRAD. (SHk358, Aik1, B#17340%, C #2577 30% )

0 A XADEZIZHHE 60m.
B X ADHX T4 100 m.

m

QU [ -mmmmmmemmemnemnen oo

Pl 5

FEZOEDD Z[1] e LT THEx0k) 2EL.

) P25 Q%T, TZ0®EX 1353 60m.
Q25 P T, @b D@ X 1X5# 120 m.

AZA

BZA

X || 60m/5

100 m /%3

FRE e 745

15

i

m
O
G TN D
Pim““ ________ 7 _______ .._/f ee ﬁj\
A A
* RISFK
EOD[1WCHEHLT NEx0R) 28,
72 (P—->Q) | @b (Q—P)
X 60m /%) 120m/ %>
1535 79 )
R

= KM 7 4 = (60: 100) DL
=(3:5) Dtk = A : A

3) ABDHEXTTHE 75m.
B EDOHE X 13573% 100 m.

= Ktk 74 =(60:120) Dtk
:(1:2)0)@&1:'3:&:&

W A XADBHEXIE5E 150 m.
B EO#HE X135 %E 120 m.

m
QUbE pemmmm e e e e
A
BA
PRSES =5 g A
----- 17..--"
A
* RI=>K
BoD[1]2Hlr LT DEx0k 2EL.
AE (Q~BEWEE) | BE (Q~iBULikE)
X 75m/5; 100m/ 453
S| 75 A 53
BFE

m
QML fgz-mm-mmmm oo e e
= >
Piﬂj‘““ Tl T et T A e 51\
A o\
* EE>R
BoD[1] 2y LT DEx0# 2EL.
AZA (P~HEWV) | BE (H&2W~P)
X 150 m/ %7 120m/%y
RE ] 7497 1453
PR

= kit WA = (75:100) ORI

= itk 7 A4 = (150 120) Dkt

=(3:4) otk = A : A
ABWFER e B BHFR ORI 2 7 1%
7=A_-A=A

=(5:4) Dtk = A : A

© B - B L L9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. WO T A 22XV 772 2HZAD. (SHAH, A1 7208, B#K27208, CHk3 5308 )

W Q5 P FTOMX I3 72m.
P25 Q FTOMX IS 64m.

PHisE

* EHITSKR

EOD[1IcEALT ok 2#HL.
Q—P | P—>Q
WX || 72m/5) | 64m/ 5
IRF ] V) A9
e
= itk 74 = (72:64) Otk

= (9:8) otk = A : A

3) A XADHEX TS5 HE 140 m.
B BEOBHEX13573% 105 m.

PHisE

* EIS>K
BEOD[1 ]2l LT DExok 2EL.

AZA (HE2V~Q) | BE (Q~HE&W)
e 140 m/ %y 105m/43
¢ A5 757
R

= itk A 7 = (140 : 105) Ot
—(4:3) otk =A: A

(2) {

m

QbR

RN DX 35753 135 m.
FEWVH OB X153 90 m.

P

* BEISKR
FESOEDD Z[1] LT RE0R) 2EL.

BWHA | WG B

WX || 90m/4r | 135m/457

fif ] 70 )

e

= KW 7 A = (90 : 135) D
:(2:3)@3@%2&:&

w |

A XADHEXT573 96 m.
B XA DX 240 m.

m A
________ AN
T e eem A
e A——— oS, e e pmmm——n S ——————
P& 5
* RESK

BEOD[1]| 2l LT DHEx0%) 2EL.

AZA(BWKE~Q) | BEA (BUWKE~Q)
X 96 m /%> 240m/ %3

R T v 5y 75y

SR

= Xtk v 7 = (96:240) Otk
=(2:5) Ok = A : A
A XAFERE B XAFIERORRIZE A 1X

4 =LA =7

© B - B L L9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

